Modeling multidigit division.
1. Did you solve the problems the same way I did? If not, what did you do differently? 
2. Which of the two ways of thinking of 638÷5 was easier to work with?  What made it easier?

3. Which of the two ways of thinking of 638÷21 was easier to work with? What made it easier?

4. Write out the standard long division way of figuring out 638÷5 and 638÷21.  Were any of the ways of modeling these problems similar to the long division algorithm? If so, which were most similar?

